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Answer any five questions
All questions carry equal marks

A:basie-d’ Arsonval meter movement with-an internal resistance, Rm:=100€.and a full

scale current of Im =1mA.is to bC converted in to.a multi range D.C. voltmeter WJth 1

‘ranges- of 0-10V; 0- 50V;-0- 250V,0-500V- Determine the-values of various resistances =

required for potential divider arrangement.
Explain the principle of working of Quadrant electrometer type Electrostatic voltmeter

and mention its applications. [7+8]

Explain the workmg principle of repulsmn type moving iron instrument.

Ex lam the cons' tlon and workr g" of PMMC 1nstrument w1th torqué éxprewons o
F N L Fh £ (7+8] -
Explain the Principle and working of DC potentiometer with a neat sketch

Categorize the errors occurred in instrument transformers. [8+7]

Conclude the need of AC potentlometers list the advantages and disadvantages

of.them.™ N i
_!..leferentlate and co 1 pare C T and P.__\

Prove that for electrodynamometer type wattmeter

True power = {cos @ / [cos © cos (P — B]} x actual wattmeter reading
Where cos @ = power factor of the circuit

B = tan-1 (wL/R) where L and R are the mductance and resistance of the pressure coil

of. the circuit. L e, PR =

IExp]am how can, ydu prowde overload compensatmn to Of smgie phase md uc‘non type

‘energy-méter.

Explain three phase energy measurement using Tri-vector meter
Explain the construction and working of two element dynamometer wattmeter. ~ [7+8]

How could you measure, frequency usmg Wein’ s. bndve‘? Dlscuss w:th the heIp of

dmgr;am FO

/Construct the circuit of Schermg bndge and develop relatlon for unLnown capacnance

[7+8]

Explain the principle of strain guage? And develop relation for gauge factor.
Explain the construction and working of Thermocouple and mention its advantages.
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